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1. Purchasing a building for $120,000 by paying cash of $20,000 and

obtaining a mortgage for $100,000 would (A)increase assets and increase
liabilities by $100,000 (B)increase net assets by $100,000 (C)increase
liabilities by $120,000 (D)decrease assets and decrease liabilities by
$20,000

Prepaid rent shows a beginning balance of $500 and an ending balance of
$2,800. The rent expense account was debited during the adjusting process
for $1,200. How much cash was spent for rent? (A)$4,700 (B)$1,200
(C)$3,500 (D)$4,000

. Equipment that cost $93,000 has a book value of $23,000. What is the

balance in the accumulated depreciation account? (A)$23,000 (B)$70,000
(C)$93,000 (D)impossible to determine using the given data

The accounts which appear on a postclosing trial balance are: (A)assets,
liabilities, revenues, and expenses (B)revenues, expenses, and withdrawals
(C)assets,
withdrawals

liabilities, and capital (D)revenues, expenses, capital, and

. In a 2-for-1 stock split, the balance in the common stock account: (A)is cut

in half (B)remains the same (C)doubles (D)cannot be determined from the
information given

Western Suppliers sold $2,000 of inventory to a customer on account, terms
3/15 n/40. Freight terms were FOB shipping point and freight charges
totaled $150. The entry to record the sale would include a(n): (A)credit to
accounts receivable for $2,150 (B)debit to sales revenue for $2,000
(C)credit to sales revenue for $2,000 (D)debit to delivery expense for $150
Stock dividends: (A)decrease total stockholders’ equity (B)have no effect



on total stockholders’ equity (C)reduce the total assets of the company
(D)increase total liabilities upon declaration

8. Which of the following transactions would both increase and decrease an
asset? (A)an owner withdrawal of cash for personal use (B)borrowing
money from a bank (C)performing a service and receiving the cash
immediately (D)purchasing office supplies for cash

9. Eyewear Unlimited has accounts receivable of $16,000 and an allowance
for uncollectible accounts with a credit balance of $1,700 before a specific
account of $60 is written off. What were net accounts receivable before and
after the write off? (A)before $16,000 after $14,360 (B)before $16,000 after
$16,000 (C)before $14,300 after $14,240 (D)before $14,300

10. Given the following data, what is the gross margin if cost of goods sold is
determined using the periodic FIFO method?

Sales revenue 200 units at ~ $20 per unit
Beginning 60 units at $12 per unit
inventory

Purchases 210 unitsat ~ $13 per unit

(A)$2,540 (B)$1,460 (C)$1,400 (D)cannot be determined because the number

of units in ending inventory is not given

11. Net sales revenue is $550,000, purchases are $380,000, ending inventory is
$225,000, and gross margin is $270,000. What is cost of goods sold?
(A)$155,000 (B)$170,000 (C)$280,000 (D)none of the above

12. All of the following are characteristics of plant assets except? (A)tangible
(B)long-live (C)held for investment (D)used in the business

13. During 19X4, total dividends declared by Mercury Corporation amounted
to $29,000. There were 5,000 shares of $20 par, 10% noncumulative
preferred stock outstanding and 10,000 shares of $5 par common stock
outstanding. No dividends were declared in 19X2 or 19X3. The total
amount of dividends payable to each class of stock in 19X4 amounted to:
(A)$19,000 to preferred, $10,000 to common (B)$0 to preferred, $29,000 to
common(C)$10,000 to preferred, $19,000 to common (D)$29,000 to
preferred, $0 to common

14. The depreciation method that initially ignores residual value is:
(A)double-declining-balance (B)straight-line (C)both
double-declining-balance and straight-line (D)units-of-production

15.The purchase of treasury stock: (A)decreases assets and increases
stockholders’ equity (B)increases assets and decreases stockholders’ equity



(C)increases assets and increases stockholders’ equity (D)decreases assets

and decreases stockholders’ equity
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